WATER CAST IRON PIPE REPLACEMENT PROJECT AT VARIOUS LOCATIONS AND STORM DRAIN IMPROVEMENT PROJECT AT HUENEME ROAD

Specification No. PW 21-98

Owner: City of Oxnard Toro Enterprises

Bids Opened: 11/23/2021 Address

#1

ITEM NO.	DESCRIPTION	UNIT OF MEASURE	EVALUATION QUANTITY	UNIT PRICE	EXTENDED PRICE
	Mobilization and demobilization (not to exceed 5% of the Total				
1	Bid Amount)	LS	LUMP SUM	\$107,000.00	\$107,000.00
2	Traffic Control And Public Convenience And Safety	LS	LUMP SUM	\$67,200.00	\$67,200.00
3	Storm Water Pollution Prevention Plan	LS	LUMP SUM	\$9,600.00	\$9,600.00
	SCHEDULE A Water Improvem			, , , , , , , , , , , , , , , , , , , 	¥3,333.00
4	Install 12-Inch PVC Class 200	LF	2,880	\$227.00	\$653,760.00
			,		
5	Install 10-Inch PVC Class 200	LF	2,360	\$226.00	\$533,360.00
6	Install 8-Inch PVC Class 200	LF	2,000	\$197.00	\$394,000.00
7	Install 6-Inch PVC Class 200	LF	80	\$486.00	\$38,880.00
8	Install 3-Inch To 4-Inch PVC Class 200	LF	100	\$324.00	\$32,400.00

9	Abandon-In-Place Exist 10-Inch 0	LF	3,481	\$13.50	\$46,993.50
10	Abandon-In-Place Exist 6-Inch To 8-Inch CIP	LF	3,359	\$9.50	\$31,910.50
10	10 6-IIICH CIP	LF	3,309	\$9.50	φ31,910.50
11	Install 12-Inch R.S. Gate Valve	EA	2	\$4,085.00	\$8,170.00
12	Install 10-Inch R.S. Gate Valve	EA	9	\$3,385.00	\$30,465.00
13	Install 8-Inch R.S. Gate Valve	EA	16	\$2,715.00	\$43,440.00
14	Install 6-Inch R.S. Gate Valve	EA	8	\$2,360.00	\$18,880.00
15	Install 3-Inch To 4-Inch R.S. Gate Valve	EA	5	\$2,100.00	\$10,500.00
16	Install 2-Inch Air-Vacuum Assembly	EA	4	\$8,365.00	\$33,460.00
10	Assembly	LA	7	ψ0,303.00	Ψ00,400.00
17	Remove And Replace Fire Hydrant	EA	1	\$12,150.00	\$12,150.00
18	Remove And Reconnect Fire Hydrant	EA	13	\$9,715.00	\$126,295.00
19	Replace Up To 1-Inch Water Services (H20 Traffic)	EA	17	\$3,510.00	\$59,670.00
10	CONTROL (1120 Hame)		17	ψο,ο το.οο	φου,στοισσ
20	Replace Up To 1-Inch Water Services (Non-Traffic)	EA	40	\$3,475.00	\$139,000.00
21	Replace 1 ½-Inch Or 2-Inch Water Services (Non-Traffic)	EA	12	\$5,670.00	\$68,040.00
00	Jackell A Jack Die Off Access 11	F.		¢40.750.00	#04 500 00
22	Install 4-Inch Blow-Off Assembly	EA	2	\$10,750.00	\$21,500.00
23	Dewatering	LS	LUMP SUM	\$2,900.00	\$2,900.00

	Trench Safety: Adequate sheeting, shoring, and bracing, or equivalent method, for protection of life and limb, which				
24	shall conform to applicable safety orders	LS	LUMP SUM	\$17,215.00	\$17,215.00
	SCHEDULE B Storm Drain Imp		_	,	, , , , , , , , , , , , , , , , , , , ,
	OCHEBOLE B Otorin Brain imp	TOVEITIETIL	1	I	
25	Remove And Replace PCC Sidewalk	SQFT	4,000	\$7.75	\$31,000.00
26	Remove And Replace PCC Driveway - Commercial	SQFT	850	\$25.20	\$21,420.00
27	Remove And Replace PCC Curb And Gutter (A2-6)	LF	640	\$70.50	\$45,120.00
	Jaid And Julier (A2-0)		040	ψ10.30	ψ+3,120.00
28	Remove And Replace PCC Cross Gutter And Spandrel	SQFT	300	\$24.40	\$7,320.00
29	Remove And Replace PCC Curb Ramp	SQFT	500	\$17.70	\$8,850.00
30	Adjust Manhole Frame And Cover To Finished Grade	EA	1	\$1,265.00	\$1,265.00
31	Adjust Water Valve Frame And Cover To Finished Grade	EA	2	\$675.00	\$1,350.00
32	Adjust Traffic Signal Box To Finished Grade	EA	5	\$675.00	\$3,375.00
	Remove And Re-Install Bus				
33	Stop Shelter Including All Components, Complete-In-Place	LS	LUMP SUM	\$5,485.00	\$5,485.00
34	Install 24-Inch Storm Drain HDPE Pipe And Fittings	LF	400	\$180.00	\$72,000.00
35	Remove And Replace 24-Inch Storm Drain HDPE Pipe And Fittings	LF	150	\$180.00	\$27,000.00
36	Install 18-Inch Storm Drain HDPE Pipe And Fittings	LF	10	\$160.00	\$1,600.00
37	Install Storm Drain Manhole #1 Per City Std Plate 513	EA	1	\$9,040.00	\$9,040.00

		T	1		
38	Remove And Install 3.5' Catch Basin Per City Std Plate 501 Max. V=7.0' With Full Capture Trash Excluder Complete-In-Place	EA	1	\$6,530.00	\$6,530.00
39	Remove And Install 7' Catch Basin Per City Std Plate 501 Max. V=7.0' With Full Capture Trash Excluder Complete-In- Place	EA	1	\$7,855.00	\$7,855.00
40	Install Local Depression For Side Opening Catch Basin Per City Std Plate 509	SQFT	300	\$8.00	\$2,400.00
41	Remove And Re-Install Street Sign & Post Including All Attachments	EA	3	\$222.00	\$666.00
42	Remove And Re-Install Bus Stop Sign & Post	EA	1	\$165.00	\$165.00
43	Remove And Replace Bus Stop Post Per City Std Plate 203 & Re-Install Sign	EA	1	\$165.00	\$165.00
44	Cold Mill AC Pavement (2" Max.)	SQYD	400	\$25.60	\$10,240.00
45	Asphalt Concrete, Type III (DGAC-C2 PG 64-10)	TON	50	\$297.00	\$14,850.00
46	Dewatering	LS	LUMP SUM	\$2,900.00	\$2,900.00
47	Trench Safety: Adequate sheeting, shoring, and bracing, or equivalent method, for protection of life and limb, which shall conform to applicable safety orders	LS	LUMP SUM	\$16,500.00	\$16,500.00
48	Remove And Replace 18" ERCP (14" Rise X 23" Span) 2.0' To 5.0' Deep	LF	45	\$480.00	\$21,600.00
49	Remove And Replace 15" ERCP (12" Rise X 18" Span) 2.0' To 5.0' Deep	LF	23	\$480.00	\$11,040.00
50	Remove And Connect To Existing Catch Basin Per City Std Plate 524 Complete-In-Place	EA	3	\$3,960.00	\$11,880.00

	Remove And Replace 7-Ft Curb				
	Opening Catch Basin With				
	Gratings Per City Std Plate 502,				
	Max. V=4.0' Including Full				
	Capture Trash Excluder				
51	Complete-In-Place	EA	3	\$14,390.00	\$43,170.00

Total Base Bid Amount:

(*Total

bid price = Base Bid Amount + All Additive Items)

\$2,891,575.00

Add	Additive Items:					
52	Unclassified Excavation	CY	50	\$120.00	\$6,000.00	
53	Class 2 Aggregate Base	TON	50	\$119.00	\$5,950.00	
54	Portland Cement Stabilized Grade	CY	50	\$827.00	\$41,350.00	
55	Remove And Replace PCC Pavement	CY	50	\$770.00	\$38,500.00	
56	Install Temporary Water Services Up To 2 Inches	EA	10	\$925.00	\$9,250.00	
57	Paint Traffic Stripe (2-Coat)	LF	3,450	\$0.38	\$1,311.00	
58	Paint Pavement Marking (2-Coat)	SQFT	300	\$2.60	\$780.00	
59	Install Inductive Traffic Loop Type E, Complete-In-Place	EA	10	\$540.00	\$5,400.00	
60	Trench Stabilization	TON	100	\$114.00	\$11,400.00	
61	Miscellaneous Work (Sewer Lateral Repair)	COS	ST ALLOWANCE (⁻	Time and Material)	\$25,000.00	
	Total ADDITIVE Bid Amount: (*Total bid price = Base Bid Amount + All Additive Items)				\$144,941.00	

Total Base Bid Amount:	\$2,891,575.00
Total Additive Bid Amount:	\$144,941.00
TOTAL BID PRICE: (*Total bid price = Base Bid Amount + All Additive Items)	\$3,036,516.00

	Toro Enterprises
Total Bid SUBMITTED	\$3,036,516.00
Total Bid VERIFIED	\$3,036,516.00
Small Local Business Purchasing Preference	

Subcontractors:	Traffic Loop Crack Sealing, Inc.